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A piston/eylinder with a cross-sectional area of
0.01 m? has a piston mass of 100 kg resting on the
stops, as shown in Fig, P2.45. With an outside at-
mospheric pressure of 100 kPa, what should the
‘water pressure be to Lift the piston?

A valve in the cylinder shown in Fig. P2.47 has a
cross-sectional area of 11 cm? with a pressure of
735 kPa inside the cylinder and 99 kPa outside.
How large a force is needed to open the valve?

272 A piece of experimental apparatus, Fig. P2.72, is

2.85

located where g = 9.5 m/s? and the temperature is

5°C. An air flow inside the apparatus is determined ~

by measuring the pressure drop across an orifice
with a mercury manometer (see Problem 2.77 for
density) showing a height difference of 200 mm.
What is the pressure drop in kPa?

Py = 13595 — 2.5 Tkg/m® (2 in Celsius)

Two cylinders are connected by a piston, as shown
in Fig. P2.85. Cylinder A is used as a hydraulic lift
and pumped up to 500 kPa. The piston mass is 25
kg and there is standard gravity, What is the gas
pressure in cylinder B?
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